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SOCIOLOGY PAPER-| SUBJECTIVE il b - 24 SWIf
TIME ALLOWED: 2.30 Hours o3 = o
MAXIMUM MARKS: 80 80 = AF

NOTE: - Write same question number

and its part number on answer book, as given in the question paper.
SECTION-l Jil.o

_ﬁ'_@.ug.ﬁ%..{,glf)fﬁg bJJﬁé?JJWIMJ{Q%’QLE -

2. Attempt any eight parts. 16=2x8 & felr 71T 3 -2/ LJ‘!"
(i) Whatis meant by Urban Sociclogy? Sl ) f dust )
(i) Define Law. A A5 i)
(i) Whatis meant by Social Disorganization? ‘-‘{—J',r'g:-ﬂtﬂ’ (i)
(iv) Define Physical Science. -L.{if:—é’,ﬁlfurf'rdfb (iv)
\v) Whatis meant by Parole? el e ()
(vi) Whatis meant by Physical Interaction? feslobe JE s (vi)
(vii) Whatis the role of Sociology in Trade? e S SKm AL (vil)
iviil) Define Social Action. s AT A i
(ix} Write names of two types of Social Group. =, ri’:._"l.-”“.;u/fufl.#‘ (ix)
(x) Define In-group. SOy )
(xi) Wnat is meant by Informal Group? te Aol F ()
(xil) What s meant by Membership Group? . sJ;..J;_,,s,ij-‘J: (i)
3. Attempt any eight parts. 16=2x8 -E'r{d‘/;n:-i"ﬁ'ﬂuﬂffc.df ..3/1‘Ulr
(1) Write down two reasons of Role Conflict, -.L,-::‘Z‘,;h:-irﬁjﬂl,ll‘;‘?w-u:?ﬁ’iir {i)
(i) What is an Achieved Statue? fe s e cad (i)
(i) Define Social Sanctions. A0 A il
(iv} What is meant by Censarship? feslrle 27 (iv)
(v) Define Folk ways Syl W)
(vi) Define Social Deviance. SIS L}fb" (vi)
(vii) What is meant by Delinquency? T sl Saste  (vii

(viil) Define Social Control, —ufr;&fIL{MJ o (vill)
(ix) Whrite two characteristics of Social Values. _Uff_u:%:&w' ,,-'L:- (ix)
(x} Define Society. 3 UJ /U; ;bv" {x)
(xi) What are two similarities between Hurman and (S P Lo (Sl S szl B (i)

Animal Societies?
(xil) Write two characteristics of Modern Society. _u:’ig:,v“"]u};_ ;‘b—,ﬁg (i)
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4. Attempt any nine parts. 18=2x9 -é{ﬁ-k'ﬁﬁf? IF.;.-.JI -4/ LJ'-""

(Y  What is meant by Cultural Uniformity? el f'-—Q:'-J U'G! @ ()
(i)  What is meant by Cultural Differences? e e BEITE (i)
(iiiy Define Cultural Change. -uff-é’/ﬂibl:‘}@ (i)
() Describe two merits of Ethnocentrism. e ()
(v) Write names of Social Institutions. L e ()
(vi) What is meant by Family? fe s e sl (Vi)
{vii) What is meant by Nuclear Family? ?.;,-.Jygfz.uu beale (Vi)
(vii) What is meant by Informal Education? ?«g-ﬁf';,ff-'- r‘ig WA (i)
(ix) Define Economic Institution. s -‘b‘fbﬂﬁ—*‘d" e (ix)
(x) Define Social Stratification. ~FE Akl )
(xi) Define Class. _E Az ()
(xi)) Define Horizantal Mobility. A (i)
(xiii) Define Upward Mobility. g A 7S (i)

SECTION-Il (o
NOTE: - Attempt any three questions. 30=10x3 -g{;f;gmﬁ.:ﬂﬂfruf&éf -
5. Explain Sociclogy as a Scientific Knowledge. -_é wolisd H‘ L‘I'n-m"-' Teklf 5

6. Define Group and describe the characteristics of JL{)}fayz‘f'ur;ﬁfd'ﬁb:ufwé’ﬁ&uf -6

Primary Group.

7. Write methods to restrict Social Deviance. S IE AL L Al T
8. Describe difference between Human and Animal Societies. _EE DA dig il B
9. Describe the functions of Family. -5‘5’ uk.ﬁr’ Bl el -9
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SOCIOLOGY PAPER- OBJECTIVE u:%f,.p - g4 =IF
TIME ALLOWED: 30 Minutes ase 8 o |5
MAXIMUM MARKS: 20 20 = #AF

Ao of |\ EARI3SOWE e BUME s vl W W02 s D 1 C B A SRR L s i
o HFLQLJJ/JJJ{.:QJ:“JL;':; Bubbles Jm:-:'w.,amwfiutmm&&f.bﬂ LI.E;U.‘_F“}BJ_E}GZ—&-_“ £
Mote: You have four choices for each objeciive type question as A, B, C and D. dL:,JiJ_}I:falrlr{,g{_cﬂy
The choice which you think is corraect, fill that circie in front of that question number. Use marker or pen
to fill the circles, Cutting or filling two ot more circles will resuit in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No eradit will be awardad
In case BUBBLES are not filled. Do not solve gquestion on this sheat of DRJECTIVE PAPER.

Q.No.1 A A
(1) ______has defined Sociclogy as "Sociclogy is the ' & sl r‘;‘;j'.k-h-.i;rj Y e dug s Alepie, (1)
study of Social Action:- |A) Weber =+ (B) Durkhiem fu;j {C) Sumner # (D) Comte 2 &

(2] The old name of Sociology is:- (A) Soclal Studies I":I‘;"l,:.j‘;l.r‘ Ll m"_.,'r {2}
{B} Socialism o (G) Sceial Physics ..Hlxﬂ', ) Al (D) Social Anthmpulugy =l ,-’w-“‘

(3) __is aPhysical Science. e W
(Al Seciology =1F (B} Physics =¥ (€} Political Science =L (C) Economics =5l

(4) Types of Scienceare- (A)2 (B)3 (C)4 (D)5 _,,_,I'"‘L.}*FJ-LI'*-L.. (4)

(5] Knowledge of Sociclogy is applied on:- _,;_.,ﬁ_mm’rki._,[,u (5)
(A Tourism el {B) Armed forces ;E-,I:“.'ﬁ‘ {C) Library ,;;L;T»-"". (D) Social problems -/ L,.-,j ya's

{6) Parcle Officer perform serves in - e et an b AT i (3}
(Al Colleges =us¥  (B) Prisons (fusd (C} Markets (~Uwnlil (D) Play grounds ._):‘-.;,IL«_.J.EJ:";

{7 Video Conferenca is an example of -  [A) Social Action u’f J ;"w 2 h,‘-i:*,_,f';l"'b“;",t, (7)
(B} Non conformily J__;|;', (C) Sacial nteraction 'f i .,_},--ba- {D) Conflict -}:-'J

(8) The result of Social Interaction s:- g L6655 (8)
(4 Social Group :s) ;L-* (B) Ethnocentrism = (C) Stratification (420 (D) Caste =13

{9) Interaction found in Primary Group is:- Agulf-w,é_“wcub ;”_,f;;m, (3
(A} Temporary 5k (B) Intimate 1" (C} Formal & (D) Impersonal . g

(10) Practical form of Status is:- ) - NSl A (103
{A) Role vk (B) Group o0/ (C1 Casta & (D) Class =rlz

(11) ____is Ascribed Status, ' e 1y
(A) Mother Lk (B) Teacher .= (C} Palient 4 ~ (D} Female @i

(12) _____isincluded in Nagative Sanctions. e Bt FE (12)
(A)Fina 2472 (B) Prize /Lo (C) Diploma 1 (D Praise 37

(13} ___are not included in Informal Norms. L BB o a3
(A) Undefined acts wiiis #  (B) Laws o2)f  (C) Mores —uT=7 (D) Folk WaYs it

(14) Violation of Law s a - SIS (14)
(A) Vice (i (B) Crime .z (C) Sin o (D) All of these Ui,

(15) said that "Man is a Social Animal". & aT_L;iI::J;’w:JLJr "L & (15}
(A) Aristotle A=l (B) Elicte +.4i {C) Plato /sl (D} Socrates b3

(16) In_____ society, rate of change is faster. et S -
(A) Nomadic Jss<k  (B) Rural (e (C) Traditional L. (D) Modern 4.

(17) __isan example of Non-Material Cultura, e il i
(A) Celiphone wifly  (B) Computer At (C) Values 1.3 (D) Medicines =,

(18) Typesof Educationare-  (A) 1 (B) 2 (C)3 (D)4 gedd g

(18} mobility is the symbol of progress in socisty. -rl'_n_"u-"J.lﬁ;_;r;E:fL,.f sl dn (19
(A} Geographical J'_J{,i-? (B) Generational {C) Vertical (" (D) Horizontal {_};l -

{20} Adjustment with envirenment is caliod:- -.E;Jl‘v".zu?flhffbi U (200
(A) Competlition =%l (B) Accomodation wile (C) Status e (D) Value .2

4?{ijj(¢r}-2m T(A-8000 (MULTAN)
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TIME ALLOVWED: 30 Minutes < 30

MAXIMUM MARKS: 20 20 =
fe o | SABAISIWE e s E st L g WWR - B E 9D o C B A NIy -
il -E‘L?;:Lﬁ;/:zdfbﬁ@»ﬂl,ﬁi Bubbles -Eﬂﬂglb?-lﬁbdjuf:wl-fé Jak L LS nimlie L s

Note: You have four cholces for each objective type question as A. B, Cand D. _Q,C:&):;,:;wr.;.;.;.glf

The choice which you think is correct, fill that circle In front of that question number. Use marker or pen

.

52

i~
.,

to fill the circles. Cutting or filling two or mare circles will result in zero mark in that question, Attempt as
many questions as given in objective type question paper and leava others blank. No credit will be awarded
in case BUBBLES ar¢ not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) In society, rate of change is faster, PSRt 1§ B P
(4) Nomadic (<t (B} Rural (s (C) Traditional (Flv (D) Modern .

(2} ____isanexample of Non-Material Cuiture. e Jefeddiold _ (2)
{A) Cellphone ;_-,!}._,fi:* (B) Computer Jus (C} Vaiues .4 (D) Medicines — i/

{3} Types of Education are - A1 By 2 [(C)3 (D)4 -L:?."-J'Jl":g (3)

(4) _____ mobility s the symbol of progress in society, ek OAt M a” (@)
(&) Geographical ,.{JL;",J':‘-' (B) Generatianal Jrj (C] Vertigal S {D} Horizontal L?:l

(5) Adjustment with environment is called:- —-j‘-L-.!'ﬂf"é"’:"-'*"-*: (T (3}
(A) Competition =2l+ (B) Accomodation wsles (C} Status o (D} Value 4

(8) _____ has defined Scciology as "Sociology istha " 1—.rth’.¢h-%*£ﬁl-ul;i/ 2 ‘.-‘-_J;,'{'h.yﬁur_-flf!'fi N (&)

study of Social Action - (&) Weber =+ (B} Durkhiem :fiéu‘ (C) Sumner {D) Comte &

(7) The olc name of Scciclogy is-  (A) Seciai Sludies ¥} 3. ~e ikl (7)
(B) Socialism [ {C) Social Physics .:,L-_f_-*’g.ui,i'a:- (O Socizl Anthropology csz'ii:li"‘"ﬂ’

(B) _____is aPhysical Science -fT—;,"‘"Ji-**f-b_ (8}
(A) Sociclogy «1f  (B) Physics = bk# {C) Political Science =L-|- (D) Economics wlr i

(9) Types of Science are-  (A) 2 B)3 (Cl4 (5 -LE:"I;*'-JK'J:V (9)

(10) Knowledge of Saciclogy is applied on:- -f-;_t'ﬁ-:!#fﬁ} Leiif (10)
(A) Tourism ool (B) Armed lorces 1‘&!;"{ (C) Library ,;JLE.T?# (0} Sccial problems {JJL”S;} b

{11) Parole Officer perform serves in- P Ea'f?"'f:-*l-ﬁ,f'-':""ﬂ.rla‘.& (11
(A)Colleges (£U#¥  (B)Prisons U (C)Markets Jfusiy (D) Play grounds (e uled

(12) Video Conference is an example o= (A) Sacial Action .._}fu"‘}};_-};'bf -.;_.-_J#.,_;i?*"ﬁ_fi; (12)
(B} Non confarmity (s (C) Social interaction (Féd e (D) Conflict L

(13) The result of Social interaction is:- e E G (13)
1A) Social Group u!ﬂ}b-‘ (B) Elhnocentrism == (C) Stratification ({& s (D) Caste =14

(14) Interastion found In Primary Group is:- i t.«klti"l"h;-l'fk';w’:u"!/ﬂ-'f-ufﬁf*'.-"f (14)
(A) Temporary 76 (B) Intimate 1/ (C) Formal & (D) Impersanal o id

(15) Practical form of Status Is:- WY ol S (15)
(&) Role i (B) Group ) {C) Casle =i (0] Class =iz

(18) ___is Ascribed Status. -ﬁ—-.—‘l‘bﬁj e (IR
(A) Mather il (B) Teacher & (C) Patient .= » (D) Female d;';-

(17 is included in Negatve Sanctions. -‘g-JLﬁufs-'b';}#d} (17}
(A) Fine 2l.z2 (B) Prize ~Ldl (C) Diploma 43 (D} Praise 3"

(18 ____ are not included in Informal Norms, L A AsMGE _ (18)
(A) Uncefined acts iis> & (B)Laws o£F  (C) Mares «hT=7E (D) Folk ways cesd

(18} Violation of Law is a;- -qwcfim.-ilﬁ-.&juf & (19)
(A Viee ds (B) Crime (2 (C) Sin ot (D) All of these il

{20) _____ said that "Man is a Social Animal", i »f—b"'-‘:"&;f’ﬁ‘uib"' MR s (20)
(A) Aristotle & (B) Eliote 2.4 (C) Plata st (D) Socrates bl 5
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SOCIOLOGY PAPER- OBJECTIVE (%22 bt - 24 =KIF
TIME ALLOWED: 30 Mnutes < 30 = =
MAXIMUM MARKS: 20 20 = AF
S b L LAl LUt sl Sy gQ6lR -t s Dl € B oA Rl Sy oo
U Kb el L2d Bubbles Dl it enm L g Sk | L i 1 JE
Note: You have four choices for each objective type question as A, B, C and D. Lt }:;..-.,'Jir.;,ﬂ.:l!r
The choice which you think is correct, fill that circie In front of that question number. Use marker or pan
to fill the circles, Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 -1 fof
{1y ____ Is Ascribed Status. aq--fﬁ“ﬁj — B i1
(A} Mother o {B) Teacher P (C) Patient .= (D) Female oy
(21 _ isincluded in Negative Sanctions. - 1;)"'.?‘.,',:...-.,1?."'F"A .j'." 12
{A) Fine =7 {B) Prize I*-;-ﬁ' {C) Diploma ;:&5 (D} Praise ._g;'/J
{3} ____ arenotincluded in Informal Norms. -L,-f._,r:-ii'l;i._,f.;,l,ﬂ“ﬁij . - i3
(A} Undefired acts hTds™ 4  (B)Laws ot/ (C)Mores —uT= (D) Folk ways e ¥
(4] Violation of Law is a:- e iedudy ()
(A) Vice (e (B) Crime (2 (C) Sin o&" (D) All of these (L7
(5) _____ sald that 'Man is a Soclal Animal”. Seprdeult ” SYL g i5)
{A) Aristolle = (B} Elicie 2.4 (C) Plato w1l (D) Socrates &7
(8r In____ _society, rate of change is fasier. —Ee Jn?;;",ei?;.;,f:c"?,_.-f, Sl i
{A) Nomadic ;,,-5.-1:;45 (B) Rural (& {C) Traditional 1. (D) Moderm 4.
{7y ____ sanexample of Mon-Material Culture. -;IHJ&J.:.Z-;';--JL,{‘ - 7
{A) Celiphone ;_‘J_!:‘L,-F%-_'" (B) Computer ﬁ.tv;r (C) Values 1.3 (DY Medicnes wlal
(8) Types of Education are:- a1 B 2 Sy 3 D4 _._,r_.'lw;"!;'-i.‘.?"] 1)
(9 mobility is the s'_.fjnbul of progress in society, _.f__..-xur-:f J}L.d‘a}!{»-j{.; o i9)
{A) Geographical $U12 (B) Generational & (C) Vertical St (D) Horizantal &
{10) Adjustment with environment is called - -;Jw;;,-w;f&lm (10;
{A) Competition =¥~ (B) Accomodation =Sl (C) Slatug (D) Value .0
(11) ______ has defined Sociology as "Scciology is the  ° ;;H,-cs’_,w:rﬁv.:w N _.;J;I_f_@',;;_f;.;;!",'i_ B 7
study of Social Action - {A) Weber m» (EB) Durkhiem I:”L'u} {C) Sumner # (D) Comte &
{12) The old name of Scciology is:- {A) Social Studies I‘:“J}‘b- e pitizbi At (12)
{B} Socialism I*J;'tr {C) Social Physics .:.-Ltf*;_-},.ﬁbw iD} Social Anthropalogy .:ﬂg;‘:'l_"j/‘.v
(13) is a Physical Science. -‘[-L:'"":LU"} (13
(A) Sociology =UlFf  (B) Physics = (C) Political Science =L-L- (D) Economics ==
(14) Types of Scienceare- (A)2 (B)3 (C)4 (D)5 redo (14
(15) Knowledge of Sociclogy Is applied on:- —e beJWEFL i (15)
(A) Tourism z=>t  (B) Armed forces .;e,-r;*:é’ (C) Library ;26" (D) Social problems g fi+d 2
{18} Parcle Oficer perform sarves In:- -%Lg;,—gﬂ/-.;,b.;ff?bl,g {(18)
(A) Colleges AU#E  (B) Prisons (2usk (C) Markets (fustih (D) Play grounds J2uaedl b
(17) Video Conference is an exampie of-  {A) Social Action JJ’ G}Lv ,.,:j__,_,!l:-'L_.'f}'.EE TR o
(B) Non cenformity (i /i (C) Scolal interaction ¥ s (D) Conflist s
{18) The result of Social Interaction is:- 2 SE A (18
{A) Social Group siid -;"w (B) Ethnocentrism =" (C) Stratification (42 (D) Caste =13
{19) Interaction found In f’ﬁmar'_-.-r Croup is:- - JFLETLJI:J_L;L'; ;,,'f;_-ji.‘}s':_m'i;'j!é (9
(A} Temporary (e (B) Intmate 1~ (C) Formal (7 (D) Impersonal &, &
(20) Practical form of Status is:- e FE e op
(Al Role sl (B) Group ./ (C) Caste =13 (D) Class »#lz l
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Number:

SOCIOLOGY PAPER-I OBJECTIVE (532 by - g bt
TIME ALLOWED: 30 Minutes e 30 = 2y
MAXIMUM MARKS: 20 20 = AF

S oL S ISl e LU L s L g2 L D 1) € B A a2l Ly wid
VI Ve SR eSSk Bubbles  Murdib it anSLSG Sk LS pdmhie i 2
Note: You have four choices for each objective type question as A, B, C and D. -;{,rf.‘*pl"');;@uw_g{.#r
The choice which you think is correct, fill that circle in front of that question number. Us2 marker or pen
to fiil the circles. Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as
many questions as given in objective typs question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filed. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1
(1) Parcle Officer perform serves in--
(A) Colleges LEU#¥ (B) Prisons &k
(&) Video Conference is an example of:.-
(B) Non canformity J_i7
{2) The result of Social interaction is:-
(B) Ethnocentrism se=®
(4) Interaction found in Primary Group is:-
(A) Temperary Pk  (B) Intimate 1,

A Ay
—e-aridlan L,ai‘rf.:'fd:,{{- (1)
{C)Markels 20y (D) Play grounds pﬂw'lgid';
(A} Social Action J '3 2 e dBFah @
(C) Social interaction (M5 - (D) Confliet (ol
L6 ()
(C) Stratification (420 (D) Caste =13
e Jonl el Auill il ()
(D} impersanal u":{
Y[ SR

(A) Social Graup 42/ () e

(G) Formal ()
(3) Practical form of Status js:-

(A) Role sty (B) Graup . (C) Caste s {D) Class =#la

{6) is Ascribed Status -;,;,h_-ﬁ*u'-: e |
{(A) Mather il (B) Teacher b {C) Patienl = {D) Female 76

(7} ___isincluded in Negative Sanctions. TS EYO 6 i)
(A) Fine 212 (B) Prize ~Li (C) Diploma s (D) Praise b/

(8) ____ are not included in Informal Narms. -L.-ruful-*uf-:-ﬂr"lﬂ/f — i)

(A) Urdefined acts _bii > #
(9 Viclation of Law is a:-

(B) Laws oFif (D) Folk ways <. ¥

e G Slds  g)

(C) Mores =4

(A Vice Cie (8) Crime 2 (C) Sin b (D) All of these LL

(10) said that "Man is a Social Animal”. " ,c-l:J'f:i}Lvu'l..il A7 ___hf?" i
(Al Aristolle A (B) Eliote et (C) Plato 4 (D) Socrates i3

(11) In__ society, rate of change is faster. —*T—L-Sff",fii:"%fr:ﬁu'fa;'w o
(A) Nomadic Ji2é  (B) Rural U (C) Traditional (i 's (D) Modemn 4.

T i st el (2)
(A] Cellphane wASi» (B) Computer fu' (C) Valugs L (C) Medicings byl

(13} Types of Education ara:- A1 (B 2 (©3 (D4 --'.,..f_?l"lv':|-;.':‘f}’-4’j i)

Skl mabiity is the symbol of progress in society. e G f gk (14)
(4) Geographical (1% (B) Generational (' (C) Vertical (s (D) Herizontal (J)

(15} Adjusiment with envircnment is called - ~--|'_-J£;r'1-.-'=;'!hﬂm";e£d_:|. —
(A) Compelition =%L- (B} Accomodation =4+  (C) Status - (D) Value .

(1€} has cefined Sociclogy as "Sociolagy is the +r"t5*'-‘w-'”—|)‘5h-—gs,r " —*’,’-Lru'{‘...é-f;fa,gl,fﬁ_ _ |aw

study of Social Action:- (A} Weber «» (B) Durkhiem [‘ bsi  (C) Sumner {D) Comte 2.4

{17) The old name of Sociology is:- (A) Social Studies Al e SN (T)
(B) Socialiem |'JJ'5:" {C) Social Physics ;,bé-b@)iw (D) Social Anthropolagy =i & J}iy

(18) Is a Fhysical Science, 41;.;_;"1.;_,9 6y
(A) Sociology =l (B} Physics =l (C) Palitical Science = || (D) Economice =k

(19) Typesof Scienceare:- (A)2  (B)3 (C)4 (D) _eSd ()

(20} Knowledge of Sociology is applied on:- P fk"-f' ey (20)

{A) Tourism sl

(B) Armed forces (&4 (C) Library £26_F (D) Social problems sl 36

47(0bj)( I Y Y ) 2017(A)-6000 (MULTAN)
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